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SECTION-A
T ot
@it
For each question given below four answers are given. Out of four only one

answer is correcl. Selecl the correcl answer. Ix10=10

weio 2fach! 2 SIGITE Gadq el s | BI0IR f5@4@ g bz Gad &% | 9% Ced(h) Iz
Gl el |

s 2fole eivgs 5146 Gea (st ©iicy | Sialbs sicdy 98l Ted &% | % Ceald @ ¢/
I4 erzoa +2Al — Al,O5 +2Fe
The above rcaclion is an example of —
@949 fafEs 2« —
@i [ferals gee —
(a) a combination rcaction
<GB! ALE RifFaE G

&0 st Ridrar Svigzd
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(b) a decomposilion rcaction
9Bl facarer (dierEa Tazad

a6 fHrares [ieFala Swizad

(c) a displacemcent rcaclion
GlHBC e EL R E IR CRUGERT

a6 Topige fdfamng Cnzad

(d) a double displacement reaction
GoT fasiiad fqiema Snrzad

qaib fauemEe e Tz

2. A solution tumms rced litmus blue.

The pIT of the solution is —
A5] w42 4l bz wiell A |
gfb 7@ #E FowE e S5 |
w@sid pll 261 —

vafea pll ¥ —

(a) 1
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(b) 4

(c) 5

(d) 10

3. Which of the [ollowing melals rcacls violently with cold water ?

OAd (A 4o el AR Fee @ke @l [iEE T

s @ greh Mes TR A o[e @l [Kiem F@e

(@) Al

(b) Fe

(c) Na

(d Ca
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4. In the periodic table of the elements, in a period [rom left to right atomic

radius gradually
(Fa 2R SIfFR #[ Obre ASTFR 271 GlreElE ss@s aend ek
Gl oifige siferar ofica A (wee SR st geid @S

(@) increascs

(b) deccreases

0

(¢ rcmains same
qGreE. A

qF3 AF
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(d) nonc of the above
G qb1S “1%3 |

aotad «aalve =1 |

5. ‘Two wircs have lengths, resistances, resistivitics—cach in the ratio

1 2. What is the ratio of their diamcicrs ?

fOE SIFd rdf, (<14, (1418 — elfSToM CFas SRAed M 1: 2. ©R TOrER 4PH

ooS [ 29

w6 iraa i, @14, SAMIEA (@IisE — 2ifofbr (@ SRS 3 1 2.

S TG SATS T A ?
@) 1:2
(b) 1:4
) 4:1

(d 1:42
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6.

Which of the [ollowing is nol a conventional source of cnergy ?

fivd @l enfers wlfieg B e
(@ Tossil l'upls
Eoipiecs

G G|

(b) [Bio-Mass

Gaed

() Nuclear cnergy
Fegn «Ife
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() Wind encrgy
R *ife

qary *ifes

7. The part of the brain which is responsible for maiﬁtaininp; cquilibrium

and posturce of the body is
Tfeas fa a3 omm el e e R ae 7, Gig w2
Afecaa (1 Bt oz el o) S e g v, o sk 2 —-
(@) Cercbellum

(blacasma

(A=

(b) Mecdulla

=l
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(c) Pons
2T

o/

(d) Cecrebrum

(B f<erat

(T

8. Which onc of the [ollowing is a biodegradable waste ? |
wete Wl (eRIDT Rl Fifia Colsia Tay 2
fafee @b s Faead g6y @Y
(a) TPolythene bag

ARRIET s

(b) Pecled skin ol mango
S Qe
GICE CAE
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(c) Torn leather bag
FifE (Ulal b G

(%G1 GG 9

({d) Plaslic bottlc
2o 9o

AMBF @roe

9. Anacrobic fcspiraﬁnn occurs in—
SIS WHA A TH — |
(a) Mitncﬁundﬂa

B EN [C I FT (AT
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(b} Chloroplast
) A

IS

(c) Nuclcus
(FR(EHT

(RS
(d) Cyloplasm

B30 4IenTe

HIRBIRNE

10. The organs having dillerent origin, similar appearance and similar function

darc

farar sisi Cerife (ool fog (e Ta WIS G0 IR A94F S04, CIEER ¥'d —

(@ ueE Ceoife S, e (0T 9% 938 99T Qe IR AR B, (ietEl
geil — '

(a) 1lomologous -
A2

AIRE
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(h) analogous
il

A

(c) adjacent
Freba¢l

64|

(d) vesligeal
SRR

SRS

SECTION - B
‘o’ ot
‘o fetel

11. Draw the clectron dot struclure of cthane.

(AR SEGA 9 51oA S |

AT TERGA B oo e |
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~ 12. Name the Sodium compound which is used for soflening hard walcer.,

1

S AT @ (95) AT ot e 4T 4 ZIGAE QSO An B

W GCE Y G AR 0SS GIRAISR (Tia T |

13. Why in nature do we find more tal] pca-plants than dwarl pea-plants ?

1
wﬁﬁﬁmwﬁmﬁﬁwﬁmﬁwmwﬁ%mm@?

#gfere

=)
AL ?

I (3 (26 6387 sivzg (7%1) 51 ©p W63 it (77e1) @M (raics

I 21 % FieTe 26wm 7wy (@4 veqm ) Frei frfis Ty
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15. If three resistances conneeted in parallel arc in relation Ry >R, >R,,
then what is the relation between the currents through them ? 1

i Aeats 4 fofDr e 7 W R > R, > R, W, (w13 Sk el
[l e 2[Ed g g

ledle] T Y@ folls cameaa 5@ 3ft R, > Ry > R, 3, Wiz wiwd foen firy
qea e eiza Sk )2

16. Take 1g copper powder in a china dish and heat, then— 1%2=2
bl bR T G2 TS 1g TR AIGHIE (51 5149 3541 Z(E —
bt Tba od) Galb A 1g TR 2eeia fea o w0 —
(@ Whatl will be the colour of the copper powder ?
F9fld AR 949 (T Z4?

4l 2IOuEba 98 B 2A?

(b)) Wrile the balanced chemical rcaction for (he above observalion.
o AR @bl TS e |

g meld ol e AR
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Or / N33 [ @<t

Translate the following stalements into chemical cqualions and

balance them. 1%2=2

ol BRI SIS Fed oS [l S e |

fRvd CReerE IoTARRE FNFEER 0P T G TREeH I |

(@ Iydrogen gas combines with nitrogen 1o form ammonia.
FRG G (1% ARG (IR Fote R R gt aes +)

ZRTGCEA S RCAIEH IIeR A e S e 1 2|

(b) Zinc carbonale is heated strongly to give Zinc oxide and Carbon

dioxidec.

Rees TG ST 5B FRE e SRG Wi I TR SHIRG 4%

W

féfww‘ﬁﬁwmﬂaﬂwﬁwwﬁ@mw%@w%m

£
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17. Deline exothermic and endothermice reaction. Give one example of cach

Fo

with chemical cqualtion. 1+1=2

wivialer 2 wizan®) [Jfemma et Fal | e AT 7T AR 9biie Suized
(W | -

wirdfre gaz wiRiR) [feam sikel @l aemlEe Al 7Y afelie et w
TVl Y€ |

18. Whal will happen il a solution of sodium hydrocarbonate is heated ?

Give (he cqualion of the reaction involved. 1+1=2
W 2Ry B Gbt Ted afre @ (% 7 [feanor A wnedd =
. —e )
e B (EIEETE G 9l TS FACE F) zu ¢ RifFaita amrFE-A=Rae G

Oor / 7231 | 9941

chemical cquation for the preparation ol blecaching

Write the balanced
1+1=2

powder. Mention (oo 1scs ol bleaching powder.

Gk siTnR zefos To! RiTaR TefFe arE A il 1 fafoR ATSwIRE yor G4
GRlll :

BifSe ~1BuR awfocs ralbe R TEEe amrafe ATREE @Al oL TSI

i o 4 e
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+ 19. Describe the process of budding in hydra. 2
QRYM PP 2Mafe ol a5 |

RIZGH AN 21l 9o 0|

20. (@) Whatl do you mecan by accommodation of cye lens ? 1
B4 (7 ColTer ol I 0 [ o2

(DIRF (FF SIS el 3600 9 (&R0 2

(b) Draw a diagram to show that a beam of while light can pass

without dispersion through two prisms. 1

e wrcem o (13831 (T 90 cwﬁﬁwﬁwﬁmm@r%@mw
A (4 A

foa s @ e mwﬁwqﬁﬁww%mﬁmﬁﬁmme
Sfo@ 308 2|

21. Slalc the two laws of refraction of light. 1+1=2

ez 5@ 7y v

AfeReem @ ¥ 7 e
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22. Explain the underlying principle of an electric gc:ncratc;r by drawing a

labelled diagram. 2
qv! fofze foa szre taies et Tifs = 3|

a2lb fbolzre foram ARy tagles cammEter T e T

23. (a) Stale the rule which is used to know the direction of induced

current in a coil. 1

ol abre WRE e 2am Fe-sie as Faud) S

G3Hfb PEHIS (IETICS) TIRE [e 2RI 77 Tire a<zre sl S 3@ |

(b) Draw the magnetic ficld lines when current passes through a cii'culaf

coil. _ 1
qEIR PEEN ACGM 231 5IFTS T FB @[ pFEE RIS o

G356 JaIPrE T6414 [€ed fea e[z bIiETs 20e B p N IenaNel s o |

24. (a) An atom has clectronic configuration 2.8.1
B! G151 2199 ZCTREAIN Rai e 2.8.1
G CNEd T ERGAIE [ T 2.8.1
(i What is the atomic Inumbcr of ﬂIIE clcﬁlent? 1
CTISTCOM 21 AR o 2

GIET0d ARTNARE A T2
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(i) To which of the following elements would it be chemically

similar ?

(alomic numbers arc given in the parenthesis)

K(19), Cl(17), Mg(12), Ar(18) 1
©F (TIETRRA (PRGR IS 2R e FAg SR ?

FFIR oo “RmeRe RAEE fFa wim)

K(19), C1(17), Mg(12), Ar(18)

e AT (T A G IPRF A e

(IEIR (SO ARAIRE M orem NR)

K(19), Cl(17), Mg(12), Ar(18)

(b) Write the name of the rﬁetals of the second period of the periodic

table. 1
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Or / 71231 / 91241

The position of the elements A, B and C in the periodic table are

shown below

W’m@rﬁ@ﬁw@amﬂwcawﬁﬁw (YEeql 3T

iqe wifem wfge ¢ A, B @2 C1 ZFSTE M (T 2

Group 16 Group 17
S gof va 7of
— A
B C

(a) State whether A is a metal or non metal ?
(TS A 419 (7 W4y ?

(751 A 419 7 S41g 2
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